FEFRR

5 = SO HTA
lIES 4 23 1 K085 WE=-WTHEBEES
1ES 4 23 3 K085 WE=-UTHEER
lIES 4 30 11 K085 tEFH=
1ES 4 30 12 K085 JtEFH=
lIES 4 23 12 K086 tEFH =
1ES 4 23 18 K086 eI
lIES 4 30 1 K086 WE=-WTHEBEES
1ES 4 32 1 K087 WE=-UTHBEER
iIES 4 32 4 K087 WE=-WTEBEES
E 4 32 5 K087 WE=-UTEEES
iIES 4 32 6 K087 WE=-WTEBEES
E 4 32 8 K087 WE=-UTEEES
iIES 4 32 9 K087 WE=-WTEBEES
E 4 20 14 K089 tHFH=
iIES 4 33 6 K089 WE=-HTEBEES
E 4 33 8 K089 WE=-UTEEES
iIES 4 33 10 K089 WE=-WTEBEES
E 4 33 11 K089 tHFH=
iIES 3 44 7 K089 IWE=TEH=
E 3 44 18 K089 IWE=TEH=
iIES 3 44 19 K089 IWE=TEH=
E 3 43 2 K090 IWE=TEH=
iIES 3 44 1 K090 IWE=TEH=
E 3 44 2 K090 IWE=TEH=
iIES 3 44 3 K090 IWE=TEH=
E 3 44 4 K090 IWE=TEH=
iIES 3 44 5 K090 IWE=TEH=
E 3 44 6 K090 IWE=TEH=
iIES 3 44 19 K090 IWE=TEH=
E 3 44 20 K090 IWE=TEH=
1IES 3 44 21 K090 ILE=TEH=
E 3 44 24 K090 IWE=TEH=
1IES 3 45 21 K090 IWE=TEH=
E 3 45 22 K090 IWE=TEH=
1IES 3 45 23 K090 IWE=TEH=
E 3 21 1 K091 IWE=TEH=
1IES 3 22 1 K091 ILE=TEH=
E 3 22 16 K091 ILE=TEH=
1IES 3 43 13 K091 ILE=TEH=
E 2 12 9 K094 IWEZTEH=
IES 3 31 1 K094 WE=-UTHEER
E 3 31 7 K094 WE=-WTHBEES
IES 3 31 21 K094 WE=-UTHEER
E 3 31 3 K095 WE=-WTHBEES
IES 3 31 4 K095 WE=-UTHEER
E 3 31 5 K095 WE=-WTHBEES
IES 3 31 7 K095 WE=-UTHEER
E 2 3 4 K096 ILWEZTEHS
IES 2 3 5 K096 WEZTEHS
E 2 3 6 K096 ILWEZTEHS
IES 2 3 7 K096 WEZTEH=
lIES 2 12 13 K096 IWEZTEHS=
1ES 2 3 3 K097 WEZTEHS
lIES 2 4 4 K097 IWEZTEHS=
1ES 2 8 1 K097 WEZTEHS




